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SECTION A
Answer ALL the questions from this section — 30 marks

1. Which of the following is NOT a characteristic of useful financial information
according to the conceptual framework?

A. Relevance

B. Faithful representation

C. Complexity

D. Understandability

2. The recognition criteria for assets include all of the following EXCEPT:
A. The asset is expected to bring future economic benefits.
B. The asset’s cost can be measured reliably.

C. The asset is acquired through a legal contract.

D. The asset is probable of future economic benefits.

3. What is the primary disadvantage of historical cost accounting?
A. It provides real-time data.
B. It may not reflect current market conditions.
C. It is overly complex.
D. It is inconsistent with international standards.

4. The International Accounting Standards Board (IASB) is responsible for:
A. Regulating local tax laws

B. Setting International Financial Reporting Standards (IFRS)
C. Auditing financial statements

D. Enforcing company law

5.Which of the following best describes a “cash generating unit™?
A. An individual asset expected to generate cash flows.

B. A group of assets that are collectively used in generating cash flows.
C. A segment of a business that generates revenue.
D. A financial instrument that generates cash flows.

6.Which method of measurement represents an asset’s value based on current market
conditions?

A. Historical cost

B. Fair value

C. Value in use

D. Current cost

7. Under IFRS, how should an impairment loss be allocated to the assets of a cash
generating unit?

A. Equally among all assets

B. Based on the carrying amount of each asset

C. To the asset with the highest carrying amount

D. To the asset that has been impaired
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e entity’s duty to recognize revenue over time

* D. The obligation to fulfil a contract with a customer

13. Which of the following is a characteristic of faithful representation in financial

reporting?

A. Consistency
'B. Relevance

C. Completeness

D. Understandability

14. When accounting for leases, which of the following is an exemption from

recognition criteria for lessees?

A. Leases with a term of less than 12 months
B. Leases involving real estate

C. Leases for low-value assets

D. Leases with an indefinite term
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~ He estimates that the building still has a further 25 years' useful life remaining.

Required

(a) Calculate the annual charge for depreciation for the first five years of the
building's life and the carrying amount of the land and building as at the end of each
of the first five years. (10 marks)

(b) Demonstrate the impact the revaluation will have on the depreciation charge and
the statement of financial position value of the land and building. (10 marks)

(c) Distinguish between capital and revenue expenditure (Give examples). (5 marks)

(d) What details about a non-current asset might be included in an asset register?
(5 marks)
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ng figures relate to inventory held at the year end.
: ‘ Product A ProductB  Product C

e $ S $

- Cost 20 9 12

~ Selling price 30 12 22
Modification cost to enable sale 2 8
Marketing costs 7 2 2
Units held 200units 150units 300units

Required
(a) Calculate the value of inventory held. (10 marks)

(b) What does the cost of inventories consist of, and could you briefly explain how the
FIFO and AVCO inventory valuation methods work? (10 marks)

END OF EXAMINATION
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